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If 25% of 400 + 35% of 1260 + 27% of 1800
= 1020+x, then the value of x lies between:
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<+ The radius of a circle is 24.34 cm. If its
radius is increased by 13%, then by what
percent will the perimeter increase ?

% TP gd I 31 24.34 cm s |




N | R — | I

<+ The side of a square is 41.2. If its side is
reduced by 17%, what will be the effect

on its perimeter ?
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<+ If the side of a rhombus is increased by 9%,

what will be the effect on its perimeter ?
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< If the side of a square is first increased by
20% and then decreased by 10%, what is
the total effect on the perimeter ?
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<+ If the length of a rectangle is increased by
20%, breadth is increased by 25%, then
what will be the effect on the area of this

~ | rectangle ? b
1 ) » UP AAd Bl d@aTg % aﬁmﬁazrzﬂ
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e 26|
%_ <6 a) 50% gf= b) 25% gf=
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<+ If the length of a rectangle is increased
by 62 1/2 % while the breadth is
decreased by 7 9/13 %, then find the

percentage change in the area ?
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» The base of a triangle is increased by 25%

\+ b+ —%%' and its height is decreased by 20%, then
L what is the effect on the area ?
344
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< If the side of a square is sived by 10% then
tell-
ab '
O+b+ ,—6_6- (a) By what percent will the area of the
square increase

o+ o 12200 , |
| 51 (b)By what percent will the perimeter of the
N square increase
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< |If the side of a square is increased by 30%

then tell -
(a) % increase in its area

(b) % increase in its perimeter

2 Tt o Bt Y 30% Ter & ATelt 8 ot Farsh -

(a) 9P &TFA A % gfx
(b) 3P URATT H % g
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+ gfe et v 3t va Yot 100% F31 & &g,

z dl SHST ATTd d¢ ST
(X v=a » If the side of a cube is increased by 100%
| | its volume is increased by -
A g8
(a) 400% (b) 800%
1 X1 (c) 200% (d) 100%
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< If radius of a circle is increased in such a way
that its circumference increases by 10\% .

Area of circle will be increased by -

1 21
O+ IBx\ (a) 10% 5T 21%
[W (C) 12% (d) 24%
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